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 (הסדר הוא נגד כיוון השעון כשמתחילים על ציר האיקס החיובי)
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, עם הגבולות 
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 (סימון אחר, שמועדף על רבים הוא 
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 עם הגבולות הרגילים 
[image: image19.wmf],

ts

Î

¡

.

ג. 
[image: image20.wmf]220

xy

+-=


_1400013051.unknown

_1400013552.unknown

_1400013607.unknown

_1400013713.unknown

_1400013854.unknown

_1400014077.unknown

_1400013645.unknown

_1400013553.unknown

_1400013302.unknown

_1400013478.unknown

_1400013551.unknown

_1400013150.unknown

_1400012640.unknown

_1400012950.unknown

_1400012999.unknown

_1400012750.unknown

_1400012169.unknown

_1400012449.unknown

_1400011972.unknown

